

Ex: If $Y = (ax+b)^n$ Find Y_n

Since $Y = (ax+b)^n$

$$Y_1 = n a (ax+b)^{n-1}$$

$$Y_2 = a^2 n(n-1) (ax+b)^{n-2}$$

$$Y_3 = a^3 n(n-1)(n-2) (ax+b)^{n-3}$$

$$\vdots$$

$$Y_n = a^n n(n-1)(n-2) \dots 1$$

$$= a^n n!$$

$$\Rightarrow Y_{n+1} = 0$$

2. If $Y = \frac{1}{ax+b}$ then Find Y_n

$$\text{Here } Y = \frac{1}{ax+b} = (ax+b)^{-1}$$

$$\Rightarrow Y_1 = (-1) a (ax+b)^{-2}$$

$$\Rightarrow Y_2 = (-1)^2 a^2 \cdot 2 (ax+b)^{-3}$$

$$\Rightarrow Y_3 = (-1)^3 a^3 \cdot 1 \cdot 2 \cdot 3 (ax+b)^{-4}$$

$$\Rightarrow Y_n = (-1)^n a^n \cdot 1 \cdot 2 \cdot 3 \dots n (ax+b)^{-(n+1)}$$

$$= \frac{(-1)^n n! a^n}{(ax+b)^{n+1}}$$

$$\text{Thus if } Y = \frac{1}{ax+b} \Rightarrow Y_n = \frac{(-1)^n a^n n!}{(ax+b)^{n+1}}$$

3. If $Y = e^{mx}$ then Find Y_n

$$\text{Here } Y = e^{mx}$$

$$\Rightarrow Y_1 = m e^{mx}$$

$$\Rightarrow Y_2 = m^2 e^{mx}$$

$$\Rightarrow Y_3 = m^3 e^{mx}$$

$$\vdots$$

$$Y_n = m^n e^{mx}$$

$$\text{Thus } Y = e^{mx} \Rightarrow Y_n = m^n e^{mx}$$

IV If $y = \log(ax+b)$ then Find y_n

Here $y = \log(ax+b)$

$$\Rightarrow y_1 = \frac{1}{ax+b} \cdot a = a \cdot (ax+b)^{-1}$$

$$\Rightarrow y_2 = a^2 (-1) (ax+b)^{-2}$$

$$\Rightarrow y_3 = a^3 (-1)^2 \cdot 1 \cdot 2 (ax+b)^{-3}$$

$$\begin{aligned} \therefore y_n &= a^n (-1)^{n-1} \cdot 1 \cdot 2 \cdot 3 \cdots (n-1) (ax+b)^{-n} \\ &= \frac{(-1)^{n-1} a^n (n-1)!}{(ax+b)^n} \end{aligned}$$

V If $y = \sin(ax+b)$ then Find y_n

Here $y = \sin(ax+b)$

$$\begin{aligned} \Rightarrow y_1 &= a \cos(ax+b) \\ &= a \sin\left[\frac{\pi}{2} + ax+b\right] \end{aligned}$$

$$\begin{aligned} \Rightarrow y_2 &= a^2 \cos\left[\frac{\pi}{2} + ax+b\right] \\ &= a^2 \sin\left[2 \cdot \frac{\pi}{2} + ax+b\right] \end{aligned}$$

$$\therefore y_n = a^n \sin\left[n \frac{\pi}{2} + ax+b\right]$$

(vi) If $y = \cos(ax+b)$ then Find y_n

Here $y = \cos(ax+b)$

$$\begin{aligned} \Rightarrow y_1 &= -a \sin(ax+b) \\ &= a \cos\left[\frac{\pi}{2} + ax+b\right] \end{aligned}$$

$$\begin{aligned} y_2 &= a^2 \sin\left[\frac{\pi}{2} + ax+b\right] \\ &= a^2 \cos\left[\frac{\pi}{2} + \frac{\pi}{2} + ax+b\right] \\ &= a^2 \cos\left[2 \cdot \frac{\pi}{2} + ax+b\right] \end{aligned}$$

$$\therefore y_n = a^n \cos\left[n \frac{\pi}{2} + ax+b\right]$$

If $y = e^{ax} \sin(bx+c)$ Then Find y_n

Page-4

Here $y = e^{ax} \sin(bx+c)$

$$y = a e^{ax} \sin(bx+c) + b e^{ax} \cos(bx+c)$$

$$= e^{ax} [a \sin(bx+c) + b \cos(bx+c)]$$

$$= e^{ax} r \sin(bx+c+\theta)$$

Where $r = \sqrt{a^2+b^2}$

$$\tan \theta = b/a$$

$$\Rightarrow \theta = \tan^{-1} \frac{b}{a}$$

$$y_2 = e^{ax} r^2 \sin(bx+c+2\theta)$$

$$y_n = e^{ax} r^n \sin(bx+c+n\theta)$$

Thus if $y = e^{ax} \sin(bx+c)$
 $\Rightarrow y_n = r^n e^{ax} \sin(bx+c+n\theta)$

If $y = \frac{1}{x^2+a^2}$ Then Find y_n

Solⁿ $\Rightarrow$ Here $y = \frac{1}{x^2+a^2}$

$$= \frac{1}{x^2 - i^2 a^2}$$

$$[i^2 = -1]$$

$$= \frac{1}{(x-ia)(x+ia)}$$

$$= \frac{1}{2ia} \left[\frac{1}{x-ia} - \frac{1}{x+ia} \right]$$

$$= \frac{1}{2ia} \left[(x-ia)^{-1} - (x+ia)^{-1} \right]$$

$$y = \frac{1}{2ia} \left[(-1) \cdot (x-ia)^{-2} - (-1) (x+ia)^{-2} \right]$$

$$y_2 = \frac{1}{2ia} \left[(-1)^2 \cdot 1 \cdot 2 (x-ia)^{-3} - (-1)^2 \cdot 1 \cdot 2 (x+ia)^{-3} \right]$$

$$\Rightarrow y_2 = \frac{1}{2iq} (-1)^2 L^2 \left[(x-iq)^{-3} - (x+iq)^{-3} \right]$$

$$\Rightarrow y_n = \frac{1}{2iq} (-1)^n L^n \left[(x-iq)^{-(n+1)} - (x+iq)^{-(n+1)} \right]$$

$$= \frac{(-1)^n L^n}{2iq} \left[\frac{1}{(x-iq)^{n+1}} - \frac{1}{(x+iq)^{n+1}} \right]$$

Let $x = r \cos \theta$ $\Rightarrow x - iq = r(\cos \theta - i \sin \theta)$
 $a = r \sin \theta$ $\Rightarrow (x - iq)^{n+1} = r^{n+1} (\cos(n+1)\theta - i \sin(n+1)\theta)$
 using De Moivre's theorem.
 $= r^{n+1} [\cos(n+1)\theta - i \sin(n+1)\theta]$

Also $(x + iq)^{n+1} = r^{n+1} [\cos(n+1)\theta + i \sin(n+1)\theta]$

$$= \frac{(-1)^n L^n}{2iq} \left[\frac{1}{r^{n+1} [\cos(n+1)\theta - i \sin(n+1)\theta]} - \frac{1}{r^{n+1} [\cos(n+1)\theta + i \sin(n+1)\theta]} \right]$$

$$= \frac{(-1)^n L^n}{2iq} \cdot \frac{1}{r^{n+1}} \left[\frac{1}{\cos(n+1)\theta - i \sin(n+1)\theta} - \frac{1}{\cos(n+1)\theta + i \sin(n+1)\theta} \right]$$

$$= \frac{(-1)^n L^n}{2iq} \cdot \frac{1}{r^{n+1}} \left[\cos(n+1)\theta + i \sin(n+1)\theta - \cos(n+1)\theta + i \sin(n+1)\theta \right]$$

$$= \frac{(-1)^n L^n}{2iq} \cdot \frac{1}{r^{n+1}} \times 2i \sin(n+1)\theta$$

$$= \frac{(-1)^n L^n}{a \cdot r^{n+1}} \sin(n+1)\theta$$

$$\therefore a = r \sin \theta$$

$$\therefore r = \frac{a}{\sin \theta}$$

$$r^{n+1} = \frac{a^{n+1}}{\sin^{n+1} \theta}$$

$$\therefore y_n = \frac{(-1)^n L^n}{a \cdot a^{n+1}} \sin^{n+1} \theta \sin(n+1)\theta$$

$$= \frac{(-1)^n L^n}{a^{n+2}} \sin^{n+1} \theta \sin(n+1)\theta$$

$$\text{Where } \tan \theta = \frac{a}{x} \Rightarrow \theta = \tan^{-1} \left(\frac{a}{x} \right)$$